MZINED (2018/5/24)

1. (109) BEDISRE ¢ (t) = 12(t).

sol: Since this differential equation is seperable.

1
Y
1

— =t+C
y

-1
YTivo

where C' is a constant.

The trivial solution is y(¢) = 0.

t@+y:sint t >0,
2. (1093) BaHRE { d

y(r/2) = 1.
dy ) .. .
sol: For t% + y = sint, divide both side by ¢ we get
dy 'y sint
a T

Then integrating factor is

With u(t) we can solve first order ODE now
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where C' is a constant.

Since we are given the initial condition, we can find the unique solution of ODE by de-

termined the value of C
_0+C
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which imply C' = 5 Hence the unique solution is
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